




  (10)  .1

 (10 x 1 = 10 Marks)   (1) 
 (200)  (4)  (7)  .2

(4 x 5 = 20 Marks)  (5) 
(500)  (3)  (5)  .3

(3 x 10 = 30 Marks)            (10) 



1 
 Resistant Body i.

   (Degrees of Freedom)  ii.

    Higher Pair .iii

  Dynamometer  Brake .iv

 Functions(Clutch) .v

 Slip of  Belt Belt Drive .vi

  Materials  Belts .vii

  Positive Drive .viii

  Governor  Flywheel .ix

  balance  Rotating Masses .x


Diploma in Engineering 

V Semester Exams:  AICTE - January- 2023 

 DPME511PCT- Theory of Machines and Mechanisms

 Total Time : 3 hrs                                                                          Total Marks :60

P.T.O. 1/3





 Pantogarph .2

    Followers .3

  Internal Expanding Shoe Brake .4

  (Factors)  Belt Drive .5

  (Nomenclature)  Gear .6

  Rope Brake Dynamometer .7

  .8

Coefficient of Fluctuation of Energy (a)

Watt Governar (b)



 Inversion  Single Slider Crank Chain .9

 

  Knife edge follower  (Cam)  .10

 900  SHM  Cam lift = 40mm (i)

dwell   300  (ii)

 SHM  follower  600  (iii)

dwell  1800  (iv)

 Discs  Drive Shaft  Discs  Driving ShaftMulti Disc Clutch  .11

Contact Surface  10mm   200mm  Contact Surface            

 1500 r.p.m  0.1 N/mm
2
  Pressure          

=0.35    Power       
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 Pulley  speed  200 r.p.m belt  Pulley  500mm .12

 2500N Maximum Tension Belt  Angle of lap = 1600  =0.25 


  Plane  Shaft  m

4
  m

3
,m

2
,m

1
 Masses  .13

 15kg  18kg, 10kg,12kg  masses

Angular m
4

 m
3
 masses m

2
mass m

1
 60mm,50mm,40mm30mmm

 Balancing Mass  10mm  270
0  135

0
,60

0  Position

 Position


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